
& y
=3x+1 zy =Gx-7 7solretory b y +3x

=1

i ↳1,
5x+ 1

I y
=3x-2 y =- 3x +1

with equal
-

↳
correspondingsiteit with slopes thatare negative

reciprocals ofone another, the

graphs of
the corresponding

functions are eticular
② 2x +5y

=4 x=y-7
5y = -2x +4 I -5y =x+7 8

y=2x
- 1 y=

- zx+3
ey =-zx +I

y
==Ex -I

↓
S-↳

W"
D

with slopes thatare negative
with equal slopes, the graphs ofthe

reciprocals ofone another, the

corresponding functions are latel graphs of
the corresponding

- functions are eticular

e y
=x-x I y =x+3

x
(3

=4x+1

y
=
- x +7

⑦
y+3

=

2

-Sthe slopes are-I and I, respectively. T
Since these are negative reciprocals
ofone another, the graphs of the

corresponding functions are witheardoesthesatel
edicularL


